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1. What does the woman invite the man to do?
A. To go hiking. B. To go shopping. C. To go on a walk.
2. Why won’t they go out on Saturday?
A. Because the man had a date.
B. Because the man had to move a new flat that day.
C. Because the man’s sister need him to help her moving.
WrsE 2 B, EEE 3—5 &,
3. Where are the speakers going to meet?
A. At the party. B. At Peter’s. C. At the bus stop.
4. What won’ t they take to the party?
A. Some games. B. More records. C. Balloons.
5. What time will the party begin?
A. At 8:00 sharp. B. About 8:20. C. After 8.30.
WrsE 3 e, EES 6—8 &s
6. What’ s the relationship between the two speakers?
A. Classmates. B. Colleagues. C. Coach and player.
7. What are the girl’ s strengths?
A. Physical education, English and science.
B. Physical education, business and science.
C. Science,business and computer.
8. Which of the fields does the girl intend to go into?
A. Science. B. Medicine. C. Sports.
W e 4 Brbtad, BEE 9—12 &,
9. How long should the man spend if he takes the underground?
A. 35 minutes. B. 45 minutes. C. 55 minutes.
10. How often do the buses run?
A. Every 5 minutes.
B. Every 15 minutes.



C. Every 20 minutes.

11. Whiéh one is the cheapest?
A. The bus.

~ B. The underground.

C. The taxi.

12. Where does the man most probably live?
A. In the suburb of London.
B. In the center of London.
C. Near a railway station.

WrsE 5 BR#tal, EEE 13—15 &,

13. What does the speaker often do exactly?
A. Travelling abroad.
B. Selling goods.
C. Marketing research.

14. Why does the speaker ask people questions?
A. Make friends.
B. Sell more goods.
C. Find out what they think.

15. What makes a good company?
A. Active people.
B. Good products.

C. Many customers.

FZT WEBER (X£S5S/NME;8NMNELS S,HHT7.55)
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The reason for the man’ s calling He’ s lost his camera.

The information about the camera Make: (16) Color; Black

Time and place the camera was first . . .
This morning after breakfast in (17)

found missing

The place the man went to before straight

: (18)
back to his room
What to do if they failed finding it To report it to the (19)
When to check out (20)
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1. When is Judy’s birthday?

A. The next day.
B. The day after next.
C. The day they had the talk.
2. What will the man and the woman buy for Judy?
“A. A record.
B. Some flowers.
C. A box of chocolate.

Wi 2 B, E& % 3—5 &,

3. Where does this conversation most probably take place?

A. At home. B. In an office. C. In a classroom.

4. How many cities in China have banned smoking in public places?

A. 20. B. 26. C. 60.
5. What can we learn from the conversation?
A. There are more active smokers in china than passive smokers.
B. In developed countries, 16 million people die every year from smoking.
C. Because China is a developing country, we should cut expenses on medical care.

W8 3 BAHEl, EE % 6—8 &,

6. Whom does the woman speak to?

A. A tour guide. B. A taxi driver. A C. A shop assistant.

7. What season is it?

A. Spring. B. Summer. C. Winter.
8. What is the weather like in summer in San Francisco?

A. Hot. B. Warm. C. Rainy.
e 4 Bdrd, MEE9—11 &,
9. How will Peter and his wife spend their holiday this year?

A. To go to Egypt.

B. To stay at home to look after everything.



C. It remains to be decided.
10. What is the advantage of travelling by sea, according to the woman?
A. One can have a comfortable journey.
B. One can enjoy the beautiful scene of the sea.
C. One can have a better rest during the voyage.
11. What is the main concern of Peter’ s wife about a trip to Egypt?
A. How long the trip would take.
B. How much a round-trip ticket would cost.
C. Who’s going to look after everything at home,
WPSE S BtE, EEE 2—15 &,
12. What was the speaker’ s job before he was 10 years old?
A. Washing plates.
B. Shining shoes.
C. Clearing tables.
13. What was one of the requirements laid down by the boy’s father?
A. He must work six days a week.
B. He must study hard in his spare time.
C. He should never be late for work.
14. What did the boy ask his father to do one day?
A. To pay him for his work.
B. To give his friends free drinks.
C. To allow him to have more free time.
15. Why did the boy’ s father refuse to pay him?
A. Because the boy had made some mistakes.
B. Because he thought it was his son who should pay him.
C. Because he thought the boy had failed to meet his requirements.

BT WEMER (&5 /ME;8NMELS 2,#%57.54)
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Travel Information

Travel means Service Hotel’ s location Food

In the hotel restaurant it
It was easy to get
Very pleasant but was (19) and
many of (18) .
not (17) many little eating places

had very (20)

By (16)
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1. What does the man think of the weather?

A. It makes people excited.
B. It makes people unpleasant.
C. It makes people comfortable.
2. Why does the man want to go out regardless of the weather?
A. He has to do some shopping.
B. He has to do some cleaning.
C. He has to do some work.
3. What’s the man’s attitude toward winter?
A. He has exercise in the morning in winter.
B. He likes winter very much.
C. He dislikes winter.
WreE 2 Bt , B 5 4—5 @,
4. What happened to Bob?
A. He was badly ill.
B. He had his legs broken.
C. He was hit by a car.
5. How soon will Bob get recovered?
A. In about two weeks’ time.
B. In about three weeks’ time.
C. In about a year.
WrsE 3 BRMel, EIESE 6—8 &,
6. What will the man do the next morning?
A. Visit the National Lab.
B. Meet Howard Beckerman.
C. Meet Mr. Centurion.
7. What do we know about the woman?

A. She is a business manager.



B. She is the man’s wife.
C. She is a company secretary.
8. How will the man spend his Saturday?
A. Taking some rest.
B. Playing basketball.
C. Meeting some visitors.
Wrsg 4 Bara, EEE 9—11 &,
9. When was the woman’ s house broken into?
A. Before 12. B. After 1.30.
10. Who’s the man?

C. Between 12 and 1:30.

A. A policeman. B. The woman’s husband.  C. The woman’ s neighbor.

11. What can we learn from the conversation?

A. The woman’s jewelry was all stolen.

B. The woman’s good jewelry was not stolen.

C. Most of the woman’ s good jewelry was stolen.

WsE 5 Bl BEE 12—15 &,
12. Where does the speaker’ s friend live now?
A. In Adanta. B. In Chicago.
13. What is the speaker?
A. An office manager. B. A doctor.

‘C. In San Francisco.

C. An artist.

14. How often do the two friends talk on the phone?

A. Twice a month. B. Once a day.

C. Once a week.

15. In how many ways does the speaker keep in touch with her friend?

A. 2. B. 3.

C. 5.

BT WEER (S5SMNEESMLS S HBR7.5%)
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(The only dormitory open Butler Hall
The reopen time of the other dormitories (16) on Feb. 16
When to move By the 7th
The time the dining halls closed (17)

The facilities open on a reduced schedule

The library and the (18)

The facilities keeping regular hours

The post office and the (19)

The purpose of the students’ remaining on the campus

To finish up their (20)
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1. What are the speakers talking about?
A. Watching a football game.
B. Going out to dinner tonight.
C. Borrowing books in the city library.
2. What won’ t the woman probably do tonight?
A. Have supper.
B. Watch the football game.
C. Go to the city library.
WTeE 2 Bt sl EE S8 3—5 &,
3. Why does the man want to buy some appliances?
A. Because the kitchen has been repainted.
B. Because something is wrong with the appliances.
C. Because the appliances in use are not modern any more.
4. Which of the following appliance is not mentioned by the man?
A. Dishwasher. B. Washing machine. C. Microwave oven.
5. What can we learn from the conversation?
A. The man has enough money to pay for all the items.
B. The man will be better off in the future.

C. The man may be given a discount.

WrsE 3 Bbta, EESE 6—8 @,
6. How many times has the woman been sailing before?
A. Twice. B. Once. C. Never.
7. How will the woman pay for her trip?
A. By cheque. B. By credit card. C. With cash.

8. What can we learn from the conversation?
A. They are talking about their travel experience.
B. The woman is going to climb mountains.

C. The man is planning a trip for the woman.



W75 4 B4l EE S 9—11 &,
9. Where does this dialogue probably take place?
A. In the car. B. In the street. = - C. At the airport.
10. What’s the weather like in Boston now?
A. It’ s very cold.
B. It’ s very warm.
C. It is neither too cold nor too warm.
11. What will they do after they arrive at the man’s house?
A. They will have lunch.
B. They will go swimming.
C. They will get down to business immediately.
s 5 Batl, mEE 12—15 &o
12. What does a man intend to do when he tells a story?
A. He may want to make people believe the facts.
B. He may want to make people doubt the facts.
C. He may want to make people feel happy or sad,or think.
13. What makes a story live?
A. The facts of the story.
B. The human interest of the story.
C. The language of the story.
14. How many copies of the English novelist’ s new book had already been sold?
A. 1,000 copies. B. 1,010 copies. C. 10,000 copies.
15. When did the English novelist have a meal with his American friend?
A. When they first met in the publishing house.
B. When all the copies of the new book had been sold.
C. Four or five weeks after the new book was published.

—F FERER (£XSMEENMNELSS,ERT.55)
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Health Clul;

Why to check in the hotel

To keep in (16)

Indoors activities

A(17)___ gym

What in the gym

Exercise bicycle, (18)

, (19)

and etc

Outdoors activities

Tennis courts, (20)

, rackets and balls
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1. In what way will the man call?
A. Using a calling card.
B. Through the operator.
C. Using the local call.
2. What’s the country code for China in calling?
A, 86. B. 01. C. 10.
3. What can we learn from the con'versation?
A. The man changed his mind of calling way.
B. Using a calling card makes no difference.
C. The man calling Beijing needn’ t dial 01.
WrsE 2 BHH, EESE 4—5 E,
4. What does the woman advise the man to do?
A. Take some aspirin and keep warm.
B. Not go to the places she used to go.
C. Take some clothes for the cold climate.
5. Where is Canada to the speakers’ country?

A. South. B. North. C. East.
WP%E 3 A, ESE 6—8 &,
6. How many American writers have they mentioned?

A. 5. B. 4. C. 3.
7. When did Jack London go to Canada?

A. In 1916. B. In 1876. C. In 1897.

8. What is the man mainly talking about?
A. American culture.
B. Jack London’s books.
C. Jack London’s life.

W8 4 Eeataet, EIE S 9—11 &,

9. What was the name of the man?



A. Dick. B. Davy. C. David.
10. What kind of people didn’t they need?
A. Those who knew no foreign language.
B. Those who wanted to work 30 hours a week.
C. Those who had no experience in office work.
11. Who will get a higher pay?
A. Those who are well educated.
B. Those who have much experience.
C. Those who can speak a second language.
WS 5 Batel, EE % 12—15 /&,
12. Why didn’t Mark and Dan go sailing together?
A. Mark would like to go with John.
B. Mark was in some other place.
C. Dan was in some other place.
13. What were they worrying about?
A. They would lose their way in the sea.
B. They would be hit by a big ship.
C. Their boat would be turned over and sink.
14. Where did Mark have to stay for the night?
A. In the boat. B. In the ship. C. On the buoy (¥F#5).
15. What was Mark doing when the ship came to his help?
A. He was having a bad dream.
B. He was shouting for help.
C. He was having breakfast.

FZH WRER (#5/ME;HNELS 92,#927.5 %)
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My Friend Alice

Age to decide to become a nurse (16) years old ‘]

The game she used to play (17)

The time of her studying in a big hospital { (18) :

One of her first jobs the passage mentions | To clean all the (19)

Alice’ s feeling at last , She must be (20)




FAEWT JI B (F3)

F— MAmIHE (15 /M3 8/MNE1.5 7,855 22.5 4)

R E S B Es e . R ESMmEER L/ ME, NEFR TSR AB.C =4
PET e th B AR T, AR NG MBI B o W 45 Boxh i B 3 8T, #R0F5 A i 1) B 32
BANME, /MR S B4 TSRS , &/ MER G 5 B EEES AT E . BB I 5
EPH

WrsE 1 Bdret, BES 13 &,

1. Where was Jackie yesterday?

A. In the cinema. B. In his office. C. At home.
2. Which of the following didn’t Jackie do yesterday?
A. Looking after the baby. B. Going outing. C. Repairing his bicycle.

3. What did the woman think that Jackie didn’t go to the cinema?
A. It was wonderful. B. It was a pity. C. It was wrong.
W 2 BHa, EEE 4—6 &,
4. Where does this conversation most probably happen?
A. At a gas station. B. At the woman’s house.  C. At a shopping mall.
5. When does this conversation probably take place?
A. In the early moming. B. Nearly midnight. C. In the afternoon.
6. What does the man have to do to drive home?
A. He has to turn right at the first stop sign of the highway.
B. He is very likely to stop for dinner on the way.
C. He has to drive on several overpasses.
e 3 Bt g 79 &,
7. How many languages can the woman speak?
A 1. B.2. C. 3.
8. What else can the woman do?
A. Typing, using a computer and taking short hand.
B. Typing, computer programming and driving.
C. Typing, doing word processing and driving.
9. What’ s the probable relationship between the man and the woman?
A. Manager and customer.
B. Manager and secretary.
C. Manager and job-hunter.
WrsE 4 b, BIE S 10—12 &,
10. What do the two speaks mainly talk about?

A. Their favonte directors.



B. Films directed by Spielberg.
C. A new film called ET.
11. Why does the machine in Al want to become a real person?
A. Because it doesn’t like to be a robot.
B. Because it wants to act like a human being.
C. Because it wants to have true love with people.
12. What does the woman think of AI?
A. It’ s moving. B. It’s sad. C. It’s dull.
Ve 5 BAst, BEE 13—15 M,
13. Why did the teacher do such an experiment?
A. Because he thought monkey was fun.
B. Because he wanted to find out the most clever animal.
C. Because he had few classes every day.
14. What did the teacher see through the keyhole?
A. The monkey didn’t know what to do.
B. The monkey got the food quickly.
C. The monkey looked through the keyhole, too.
15. What can we learn from the passage?
A. The teacher only had experiment on monkey.
B. The teacher did more than one experiment.
C. The monkey found the food and enjoyed it.

ZF WEER (HS5/ME;B/MELS 2,85 7.545)
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Caller Information

Where to go (16)

When to go Next week, the 15th.
When to come back On (17)

What meals to have (18) meals

Ticket Information

Class Airline Price Travel hours

(19) West-north Airlines $590 (20)

Central Airlines
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